srh_l" HHBERELAT 2012

SHIH CHENG TOOLS =042 — 585t - ®{F - £ &




h 'I:h?'(ﬁ PRZx 5] a2 5T = Y E RS EEES

SHIH CHENG CO., LTD. Completly machinery and euqipment
ZEEBRIIR 19875 » SHLUSMBREY - BEEHRENH

RINBERIEFERE - HESBER24F2A - & El&Mazak CNCEFR--108
it a3 be Rl ikaladkikaniiie & BfMazak CNCE/HBS #-26
20084 » FIIHAGRAS » Fig €2 TOP TOOL T kg 7] 196 o S T T B B
BEfF 2 MUAFERITEE : BPTEENREME S RIERHFIER - Ta © HAIMERSL T E 12

BIRTHECEETH - BT MURERE - KXEIRFAIZIIR
F7] - VI BEMIBEBNBIBRE - HERBRATR201255TH
—BiE » BLL SET BE LEHIES -

BPRFERISE "SFPE—  mERL” NER > BiE "Som

- BEE - BUEE” REm HRBRATIBES—ERHW - 15
miREE » BEEDIZHVEAMEZT] -

HIGH SP€EED ARBO R

SmE C SfEXE - =5WEE

BHXJR-8Et - RIFE & E
Professionally Manufactured HIGH QUALITY, HIGH PRECISION, HIGH EFFICIENT



SR IERSTIIE SO MEAIH - e 1SO B - GERFS! | BT-OZ TI#E/HE | | NT-OZ TI8h702 ‘ NT-ER SR 5ET018 RS WIS
SR Shrink Fit Chuck ISO ARBOR - GSK Serl 150 ARBOR GER Senes BT-OZ Collet Chuck _ NT-OZ Collet Chuck | ER Collet Arbor ER Collet Arbor

SC #IERIE
High Speed Collet Chuek.

 NTTERRLETE
Bob: Tngr Drill ChUCk_Hd T

 GSKEEDE TSK &g GER EEBIEEIEIIE THEILIERE MT-ER EHETHE NT-FMA/FMB TEESE1E NT-SLA BIEZ0E
‘GSK High Speed Chuck TSK High Speed Chuck ER High Speed Collet Chu Boring Head ~ ERCollet Arbor ~ Face Mill Arbor End Mill Arbor

RIS R
Boring Head + Shank (A

IR (B I I ER EEERIER I = 131 . l I HEATES I I R BEE I
Boﬂng Head Sets {D} ER Collet Arbor : ) .-:.':...::..-,_ Ide i u _Puil Studs Op__t_icol Edge__Fipdg_r;: _{@gghgncal Edge Flnder
I D

o

BT-FMA EE 7R I I BT-FMB TEE I I I BT-APU SRBEHEIS I I BT-SPH B#5TIEFH3EEE l HEIZEHEEERR I Z SR eI I I JEEESH/IER
Face Mill Arbor/FMA Face Mill Arbor/FMB Drill Chuck Arbor Drill Chuck Holder Axial Preset Gauge Axial Preset Gauge Wagow/Tooling Rack

L} / .

I BT-SLA Eﬁﬁm I I BT-DCM 387187012 I I BT-MTA/MTB M T I I BT-MTB TS I =XTHRAIER I I SHTEE ) I RS I I
Sldulock End Mill Arbor Milling Chuck Morse Taper Arbor _ Morse Taper Arbor ~ 3D-TASTER ; Tool Holder Locking Device Spindle Taper Wipers Clampmg Kit h

INDEX

- IWEEs 5
Axial Preset Gauge(Indicator Type




&
#
7
i
5

HIGH SPEED ARBOR

P1

© SCRERRSEBEBNL -
O RERIBIET - DILHSEHEFT -
© BREAIINRET | REVESRIE -

< SC tooling systems are suitable for high speed and high precision cutting.
< Tool holder designed without nut that reduce the vibration of cutting.
< Max speed: 30,000 r.p.m G2.5

i : "’ i RIAR _Q&
BT30-5C06-60 2~6 60 13 SCé
BT30-5C06-90 2—6 90 13 SCé
BT30-5C06-130 2~6 130 13 SCé
BT30-SC08-60 3-8 60 16 sC8
BT30-5C08-90 3-8 20 16 SC8
BT30-5C08-130 3-8 130 16 SC8
BT30-5C12-80 3~12 80 34 SE12
BT30-5C12-130 3-12 130 34 5C12
BT40-SC06-60 2~6 60 13 SCé
BT40-5C06-90 2~6 90 13 SCé
BT40-5C06-130 26 130 13 SCé
BT40-5C08-60 38 60 16 SC8
BT40-5C08-90 3-8 20 16 sC8
BT40-5C08-130 3~8 130 16 sC8
BT40-5C12-80 3~12 80 34 SC12
BT40-5C12-130 3=12 130 34 SC2

Q SCEREBAIFI SC Collet
= ¢ | ei D

© HeFF ) EFASmm EIRE(SC06,5C08)
& W7 EEB8mmITEEF(SC12)

< SCO06, SC08: 5mm Hex-Wrench

< SC12 : 8mm Hex-Wrench

BT

SC Series

3,4,6
3,4,6,8
3,4,6,8,10,12

9.6
15
22

35
45
50

ad
i

aD

D1

Model No.

BT30-5R06-80
BT30-5R06-130
BT30-SR0O8-80
BT30-5R08-130
BT30-SR10-80
BT30-5R10-130
BT30-SR12-80
BT30-SR12-130
BT30-S5R16-80
BT30-5R16-130
BT40-SR06-920
BT40-5R06-130
BT40-SR08-20
BT40-5R08-130
BT40-SR10-20
BT40-5R10-130
BT40-5R12-920
BT40-5R12-130
BT40-5R16-20
BT40-5R16-130
BT40-SR20-90
BT40-5R20-130
BT40-5R25-90
BT40-5R25-130
BT40-5R32-90
BT40-5R32-130
BT50-SR06-105
BT50-5R06-150
BT50-5R08-105
BT50-SR08-150
BT50-5R10-105
BT50-5R10-150
BT50-5R12-105
BT50-5R12-150
BT50-SR16-105
BT50-5R16-150
BT50-SR20-105
BT50-5R20-150
BT50-5R25-105
BT50-5R25-150
BT50-SR32-105
BT50-5R32-150

~
6 16
6 16
8 18
8 18
10 22
10 22
12 24
2 24
16 28
16 28
6 16
6 16
8 18
8 18
10 22
10 2%
12 24
12 24
16 28
16 28
20 34
20 34
25 44
25 44
32 44
32 44
& 16
6 16
8 18
8 18
10 22
10 22
172 24
12 24
16 28
16 28
20 34
20 34
25 44
25 44
32 e
32 il

130
80
130
80
130
80
130
80
130
0
130
20
130
20
130
?0
130
20
130
?0
130
20
130
20
130
105
150
105
150
105
150
105
150
105
150
105
150
105
150
105
150

O HNEEBESEEESEEENEDNBESRE
EEE - TENEVEDAEETR - ASDBE A TIREBE
el EN TS @ eRE ) -

© BEEEEHETFESE R HEREE  BES
(0.005mm) *

O FEMBEZERFHRNASTEN » Bl FRSmRE

GIS-6000 #hig 7 e iz

BT

SR Series

N O I &

SHRINK FIT CHUCK




% ISO'ARBOR,

O ERIEERIRSERE MEMA - O BRIEEPRSE:E MEMA -
O BEFERETRER : (BH0E) O BRETERETRIER : (BHNE)
G2.5 30000 rpm c2.5 30000 rpm

G

i

G

r
/ /’//2«9::21}
/Xj

2R -

T |

L L
Q5 RE Q=R E
ISO25-GSK6 |2~ 6| 20 | 35 1SO30-GSK6 |2~ 6| 20 | 50 ISO25-GER16 2~10 27.5 42
ISO25-GER20 5 1A 30 42

ISO25-GSK10 | 2 ~10 | 27.6 | 35 ISO30-GSK10 | 2 —~10 | 27.5 | 50

- ISO30-GER16 2-10 27.5 55 -
= ISO25-GSK16 | 2~16 | 40 | 35  ISO30-GSK16 | 2~ 16| 40 | 50 1ISO30-GER20 513 30 55 =
i® &
7 J)
[ g
z @ GSK#lZEIRF Wrench Q@ GER#EEIRF Wrench %
4l il
o NCH-GSK6 20 NCH-GER16 27.5 o
(@) NCH-GSK10 27.5 NCH-GER20 30 O
=] NCH-GSK16 40 )
< <
0 ()]
(NN ] Ll
(AN ] Ll
& 7
T —— 1 A2 T
) 5 —— \Qgﬁy O
I e — I
L od
@ SK &3 SK Collet @ ER B3 ER Collet O OAELSMMIBBEES
SKé 2,25,8,8.5,4,4.5:5:55,8 10.55 25 ERTT 2 2.5 3,35,4, 45,5,55,6 65,7 115 | 185
SK10 e e esie il s B ) e 2,25,3,35,4,45,555,665,7,7.5,8, o
’ - ’ r - ’ ‘. ’ 4 = ’ O
Iso __ 4,45,5,55,6,65,7,7.5,8,85,9,9.5, Boninimal ISO
GSK Seri SK16 10,105,11,11.5,12,12.5, 13, 13.5, 14, 245 40 ER20 2,25,3,35,4,4.5,5,55,6,65,7,7.5,8, GER Seri
eries 14.5,15,15.5, 16 85,9,69.5,10,10.5,11,11.5,12,12.5, 13 21 31 eries




GSK =015 GSK-HighSpeed Chuck TSK =R 7012. TSK:High Speed Chuck

O TSKRIERREEZ - SIFBUH| » 18RS °
© UHIMASRE ~ BDEED
O BBIERETRERE : (ENE)

c25 15000 rom ~ 25000rpm.

© GSKRIBAIRNEERE - SIEEUH] - IBI)AS® -
O UHIMRTE ~ BIDERE °
O BBTEWRETMIE

cz.5 25000 rpm ~ 30000rpm.

(S-St YAk Q E&FNIT
=) M No. 2d . = _ D Model No s = :,%
& BT30-GSK6-60 1.8 ~ 6.00 40 20 BT30-TSK6-60 1.80~6.00 60 20 M8 x 1.25P SK6 iR
= =, s ] . Xk,
k72 ¥ Collet P7 BT30-GSK10-60 1.8 ~10.00 60 27.5 BT30-TSK10-90 1.80~10.00 90 29 M12 x 1.75P SK10 B¥Collet P7 k72
5| BT30-GSK10-90 1.8 ~10.00 90 27.5 BT30-TSK16-60 2.75~16.00 60 40 M18 x 2.5P SK16 5|
BT30-GSK16-60 2.75 ~ 16.00 60 40 BT30-TSK16-90 2.75~16.00 90 40 M18 x 2.5P SK16
- BT30-GSK16-90 275~ 16.00 90 40 BT40-TSK6-60 1.80~6.00 60 20 M8 x 1.25P SKé -
BT40-TSK6-90 1.80~6.00 90 20 M8 x 1.25P K6
8 BT40-GSK6-60 1.8 ~ 6.00 60 20 BT40-TSK10-60 1.80~10.00 60 29 M12 x 1.75P SK10 8
o BT40-GSKé6-90 1.8 ~6.00 90 20 BT40-TSK10-90 1.80~10.00 90 29 M12x 1.75P SK10 o
< BT40-GSK10-60 1.8 ~10.00 60 27.5 BT40-TSK16-60 2.75~16.00 60 40 M18 x 2.5P SK16 <
0 BT40-GSK10-90 18~ 10.00 90 97 5 BT40-TSK16-90 2.75~16.00 90 40 M18 x 2.5P SK16 0
0. - - .00~25.00 o o
wn BT40-GSK16-90 2.75 ~16.00 90 40 BT50-TSK10-100 1.80~10.00 100 29 M12 x 1.75P SK10 v
T T UL T e — BT50-TSK10-150 1.80~10.00 150 29 M12 x 1.75P SK10 T
O BT50-TSK16-100 2.75~16.00 100 40 M18 x 2.5P SK16 0)
T BT50-TSK16-150 2.75~16.00 150 40 M18 x 2.5P SK16 T
BT50-TSK25-120 8.00~25.00 120 55 M24 x 3.0P SK25
BT50-TSK25-200 8.00~25.00 200 55 M24 x 3.0P SK25

O GSK7JISEA#HEIRSF Wrench

HIPERN  VRBEREESIHER -

Q TJIRTSKTIRIRIEEAIRF Wrench

v __ 1 ._i‘)‘.. .
NCH-GSKé
TSK-10 26 167
NCH-GSK10 27.5 o e o
NCH-GSK16. 40 TSK-25 55 226




IR1S /[E13& SK:ClampingNut7/:Collet

P TSK 120218 > GSK JJiSiZi8 © GERFIEANSHE « SBBIHILINIESH -
: - & UMM » HORE) -
s L ©5K Clamping Nut * BETERETHES : (BHIE)

G25 15000 rpm ~ 25000 rpm.

G
=

o e L—_# =

0 SREMHERINE

M

BT30-GER16-70 0.5~10.0 27.5 70

il 29 1o el < BT30-GER20-70 1.0~13.0 30 70

NUT-TSK10 24 19 NUT-GSK10 A 19 BT30-GER25-70 T BT 40 70

NUT-TSK1 6 40 275 NUT-GSK16 40 P75 BT30-GER16-100 0.5-10.0 27.5 100

NUT-TSK25 55 34 BT30-GER20-100 1.0-13.0 30 100

BT30-GER25-100 1.0~16.0 40 100
SK BT40-GER16-70 0.5-10.0 27.5 70 5
BT40-GER20-70 1.0~13.0 30 70 B
2 BT40-GER25-70 1.0~16.0 40 70 7
. BT40-GER16-100 0.5-10.0 27.5 100 12
A BT40-GER20-100 1.0~13.0 30 100 s

g BT40-GER25-100 1.0~16.0 40 100

5

HIEEREN > TEZRAEEITIHRE -

G Q #HIRF Wrench o
e O
— - i

O o
NCH-GER16 27.5 <
\U\ NCH-GER20 30 )
i NCH-GER25 40 [T
2 L
o
z 7
W 1
O
I

SKé 2.2.5,3,85:4,4.5,5, 55,6 1855 25

SK10 2.2.5,3,35,4.45, 5,55, 15.5 30

6,68, 7, 7.9,8 85995 10

3,4,45,5,55,6,65,7,7.5,8,85,9,
SK16 9.5;10, 105, 11:11:5,:12; T2.6, 13, 135, 24.5 40
14,14.5,15,15.5, 16

2,2:8, 8,3:5,4,4.5 5,555, 6.5.7

ER16 2,25,3,35,4,45,5,55,6,65,7,7.5,8,85,9,95,10 27
7.5,8,9.5,10,11.5,12,15.5,16, 16.5, ERDD 2,2.5,3,35,4,45,5,55,6,65,7,7.5,8,85,9,9.5, 10, 3
SK25 17,175, 18,18.5,19,19.5, 20, 20.5, 3585 57 10.5,11,11.5,12,12.5,13
20,020.5,022 B2 S, B3, 28 5. 24 (2460025 ER25 3,4,5,6,7,8,9,10,11,12,13,14, 15,16 35
P7 P8

_m:_—i_’. B



Sl = .

o M ‘ > EEFETETE +HEIRIR+ R ZE T )12 Boring Head+Shank+Tool (C)
& BHWO2-50CK4(MFBHEIERR + BERO3-@50mm/ I\ FLEER « EREHENEEDE  INT

@3~-@10mm3L ©
& REAEREA00%D  SEAERYARERZ0.01mm _
& REEREMUNRAE  FEUE - BE - CREPE  BEATEE - BEE - 4 NT50 —
@Feature:
& Available are three different styles enabling small diameter boring from 3mm to 50mm. Boring

range can be within 3mm to 10mm if small diometer solid carbide boring bar hos been employed. = DRn2 Brite2
€ The dial has been graduated into 100 divisions. each of which is 0.01mm on diameter.. 'I | NT40 — Chr—=
¢ High precision internal lead screw with inner lubrication is free from the effects of chip. Faturing

hing durability. 5952-8H16-10

— - —
= 5952-BH16-08
4 BT50 —
- L -
CK No.
4 o BIEE3~-050mm -
; BT40 — & RINMTER)  FLUEREEEER -
o BEOERES  TLIZRYENCKERAER -

@D1

Cl BHWO02-50CKé6+BT40 M16xP2.0 +BH166-08/12/20 2.9

’ (G BHWO02-50CKé6+BT50 M24xP3.0 +BH166-08/12/20 6.3 )

Lﬂ &3 BHWO2-50CK&6+NT40 | 5/8'%11UNC +BH166-08/12/20 2.6 lﬂ
o C4 BHWO02-50CK6+NT40 M16xP2.0 +BH166-08/12/20 2.6 ?IEJ
*E : o - &5 BHWO02-50CK6+NT50 1"x8UNC +BH166-08/12/20 55 ﬁ
PE% BHW02-50CK6 6 16 63.5 45 | 0~45 | 105 cé BHWO2-50CK6+NT50 |  M24xP3.0 | +BH166-08/12/20 | 5.5 i_Eé
5 SE
% Fi = - . ¥i = ﬂ . ;’é
5 > TEAFEIETE+HEIRIR Boring Head + Shank (A) > WEEFEETE (E5) Boring Head Sets (D) il
G 5952-60:!15—40 D
< = ) . <
%J !!! ] .:1:@,} NT50 - NT50 — I se2EH1E®D %
O sor 1625 O
Z = Z
o = [P ! 5852.8H15-20 —
8 e ﬂ{L—@A NT40 | | S I B— 5
m B IE el __[ SO52-BH1B-16 m

@l 2!}2?_—3#115—12

! BT50 - -
= B
5052.-BH16-08
== - BT40 _|
=5 BT40 . © 13 Eo3~050mm
& RILTRE) - TUBFAESNSE -

€ EOMRIGERET » TLMEREZMCKEMRER -

Al BHWO02-50CK6+BT40 M16xP2.0 2.9 D1 BHW02-50CK6-BT40 M16xP2.0 2.9

A2 BHWO02-50CKé6+BT50 M24xP3.0 6.3 D2 BHWO02-50CK6-BT50 M24xP3.0 6.3
A3 BHWO2-50CK6+NT40 5/8"x1 TUNC 2.6 D3 BHWO2-50CK6-NT40 5/8"x1 1TUNC 2.6
A4 BHWO02-50CK6+NT40 M16xP2.0 2.6 D4 BHWO02-50CK6-NT40 M16xP2.0 2.6
A5 BHWO2-50CKé6+NT50 1"x8UNC 55 D5 BHWO02-50CK6-NT50 1"'x8UNC 5.5
Ab BHWO02-50CK6+NT50 M24xP3.0 5.5 Dé BHWO02-50CK6-NT50 M24xP3.0 S




ERIS%

O RARENY - MEZRE - EATER - MEE -
O BEE8SWNLLLE -

© ZEFEREE0.85~1.08S ©

O HEE1.5 pmPA -

» EREBMER Collet Type

r.n'f

l
gl

QIRERRIF

z]e L

28 70 ERT6 ERT1 19 13 M14 x PO.75

ERT1  ©0.5-37.0 115 | 185

BT30-ER16-70 00.5~210.0 1

BT30-ER20-70 ol 0—=a13.0 34 Fi0 ER20 ER16 28 ) M22 x P1.5 1 ER16 @0.5-@10.0 17.0 27.0

BT30-ER25-70 e D] 800 42 70 ER25 ER20 34 19 M25xP1.5 1 ER20 @1.0-313.0 21.0 31.0 E

BT30-ER32-70 59 0P 0 50 70 ER32 ER25 42 20 M32 x P1.5 2 ER25 B1.0-216.0 26.0 350 &

BT30-ER11-100 20.5~07.0 10 100 ERT1 ER32 50 | 22.5 | M40xP1.5 2 ER32 @2.0 - 320.0 33.0 40.0 s

BT30.ER11M-100 00 5~57.0 16 100 ER11 ER40 63 29 | M50xP1.5 3 ER40 @3.0 - @26.0 41.0 46.0 IJ :

BT30-ER16-100 20.5~210.0 28 100 ER16 g L R (R e L E

BT30-ER20-100 o1 D=3 34 100 ER20 gggm ;é ]2 m;z" m'g i *

BT30-ER25-100 01.0~016.0 42 100 ER25 A 5

BT30-ER32-100 22.0~020.0 50 100 ER32
o BT40-ER16-70 20.5~210.0 28 70 ERT6 oz
O BT40-ER20-70 o1 0130 34 70 ER20 » ER#RZF Wrench 0O
M BT40-ER25-70 21.0~a16.0 42 70 ER25 Pl
= BT40-ER32-70 22.0~220.0 50 70 ER32 =4
< BT40-ER40-80 ©3.0~026.0 63 80 ER40 | <
= BT40-ER11-100 20.5~07.0 19 100 ER11 ' -
é BT40-ER1TM-100 20.5~67.0 16 100 ERT1 - D‘ é
% BT40-ER16-100 20.5~210.0 28 100 ER16 ER25 5 ; ‘ %
£ BT40-ER20-100 21.0~213.0 34 100 ER20 <
O BT40-ER25-100 21.0~216.0 42 100 ER25 O

BT40-ER32-100 22.0~220.0 50 100 ER32

BT40-ER40-100 ©3.0~226.0 63 100 ER40 ER20 :

BT40-ER16-150 00.5~210.0 28 150 ER16 )

BT40-ER25-150 21.0~216.0 42 150 ER25 —_—

BT40-ER32-150 22.0~220.0 50 150 ER32

BT40-ER40-150 23.0~226.0 63 150 ER40

BT50-ER16-100 20.5~210.0 28 100 ER16 :

BT50-ER20-100 21.0~013.0 34 100 ER20 No :

BT50-ER25-100 21.0~216.0 42 100 ER25 NCH-ER40 ! . 280 y

BT50-ER32-100 22.0~220.0 50 100 ER32 NCH-ER32 75 553 465 ]

BT50-ER40-100 23.0~226.0 63 100 ER40 NCH-ER25 65 206 37 1

BT50-ER16-150 20.5~210.0 28 150 ER16& NCH-ER20 28.5 129 15.5 ]

BT50-ER20-150 8]1.0~213.0 34 150 ER20 NCH-ER16 29 5 117 12.5 1

BT50-ER25-150 21.0~a16.0 42 150 ER25 NCH-ER11 17 95 8.5 1

BT50-ER32-150 22.0~220.0 50 150 ER32 NCH-ER16M 45 137 25 2

BT50-ER40-150 23.0~226.0 63 150 ER40 NCH-ER20M 54 162 30 2

HIBERI 1B IR AT HURE -
P11 P12

1“‘ - I




~~ BL:REMBEEESETII= FaceiMill Arbor/ '

BT.NO.

J \ s
_I_|
Ll
[T
D1
Cc1
|
a ! { ¢
C4

| il

= H2

L1 H1 |MPEE

&7 : inch B0 : mm

N

LB 9 . 1 N | Thiho e L L S [ = ] [Tl O ([ ey [

‘5 BT30-FMA25.4-45 25.4 45 20 45 9.5 33 BT30-FMB22-45 22 45 50 18 4 10 M10 “O‘
D BT30-FMA25.4-60 25.4 60 20 45 9.5 33 BT30-FMB27-45 27 45 60 20 4 12 M12 5
< BT40-FMA25.4-45 254 45 20 60 2.5 33 BT40-FMB22-45 29 45 48 18 4 10 M10 <
2 BT40-FMA25.4-60 25.4 60 20 60 9.5 33 BT40-FMB22-90 99 90 48 18 A 10 M10 -
& BT40-FMA31.75-45 31.75 45 22 70 12.7 40 BTAO-FMB27-60 o7 40 40 20 4 i K419 %
z Eljgim; 1 -7755;;00 g: ;2 28 iz ;8 ‘ 2-7 :g BT40-FMB27-90 27 90 60 20 4 12 M12 Z
O BT40:FMA38.1 -610 e " i = : 5-; = BT40-FMB32-45 32 45 78 22 4 14 M16 O
' : : BT40-FMB40-60 40 60 80 25 4 16 M16
BT40-FMA38.1-90 38.1 90 23 85 15.9 50 et e e - s . o v
BT50-FMA25.4-45 25.4 45 20 60 9.5 33 _
BT50-FMA25.4-75 25.4 75 20 60 9.5 33 BTS0-FMB22-75 22 75 48 18 4 10 MTO
BT50-FMA25.4-150 25.4 150 20 60 9.5 33 ETOP-RMEZ 40 27 48 & £0 4 Ie e
BT50-FMA31.75-45 31.75 45 22 70 12.7 40 BISURNB2775 = /s G0 20 8 L a2
BT50-FMA31.75-75 31.75 75 22 70 12.7 40 Bl e 2/ = &0 2V 4 L
BT50-FMA31.75-105 31.75 105 22 70 12.7 40 BT50-FMB32-75 32 75 78 22 4 14 Mié
BT50-FMA38.1-45 38.1 45 23 85 15.9 50 BT50-FMB32-105 32 45 78 22 4 16 M16
BT50-FMA38.1-75 38.1 75 23 85 15.9 50 BT50-FMB32-150 32 75 78 22 4 16 M16
BT50-FMA50.8-45 50.8 45 24 95 19.05 65 BT50-FMB40-45 40 /5 89 25 B 16 M16
BT50-FMA50.8-75 50.8 75 24 95 19.05 65 BT50-FMB40-75 40 75 89 25 4 16 M16

HIBRERS - JEBRHEEIWRE - HERGHN - TRBREREBREA -




S 1 57APUEHEEDE DrillChuck Arhor = T BISLARENE:019 End-Mill Holder

ek : Q. ':.‘ = | ) | .i..
BT30-SLA6-75 6 75 25 Mé6 x P1.0 18
BT30-SLA8-75 8 75 28 M8 x P1.25 18
BT30-SLAT0-75 10 75 35 M10 x P1.5 20
BT30-APU08-80 -8 36.3 75 82 BT30-SLA12-75 12 75 40 M12 x P1.75 22.5
BT30-APU13-100 1=18 51.5 100 110 BT30-SLA16-75 16 75 40 M14 x P2.0 24
BT40-APUOS-85 1.8 363 79 86.5 BT30-SLA20-75 20 75 43 M16 x P2.0 25 ;
BT30-SLA25-75 25 75 45 M12 x P1.75 25 22
BT40-APU13-100 i) BN 100 110 BT40-SLAS-75 6 75 25 M5 % PO.8 12 10
BT40-APU16-130 =14 58 116 130 BT40-SLA8-75 8 75 28 Mé6 x P1.0 14 12
BT40-SLA10-75 10 75 35 Mé x P1.0 15 14
BTS0-APUTS-100 1-13 515 100 119 BT40-SLA12-75 12 75 40 M8 x P1.25 20 16
BT50-APU16-130 3-1¢6 o8 16 130 BT40-SLA16-75 16 75 45 M10x P1.5 20 18 -
imE RN TR RTIRE - BT40-SLA20-90 20 20 50 MI12xP1.75 25 20 E
BT40-SLA25-90 25 90 55 M12 x P1.75 25 25 i
BT40-SLA32-90 32 90 60 M16 x P2.0 24 28 73
BT50-SLA16-100 16 100 45 M10 x P1.5 22 18 Sy
BT50-SLA20-100 20 100 50 M12 x P1.75 25 20 {ﬁ“
BT50-SLA25-100 25 100 55 M12xP1.75 25 22 £
BT50-SLA32-105 32 105 60 M16 x P2.0 24 28 5|
: BT50-SLA42-105 42 105 80 M16 x P2.0 24 28 i
BT-SPH & Drill Chuck Holder) -
. ( Lﬁﬂﬁﬂmﬁ HIZESN - TSRS SRS - 2
O O
[l [l
o . L o %
< s ('BT-DCM 3087048 Milling Chuck ) <
& | 3
[TH] 4 [ 1 f ] =
7 r/ — — - 7
L ) ] 2 L
O g S O
A\
VIO NOL ' e =
: ! - ! BT40-DCM32-105 32 75 105 DCM3?2
BT30-5PH08-80 0-8 92 83 38 2.2 BT50-DCM32-105 32 75 105 DCM32
BT30-SPH13-100 0-13 115 102 50 2.5 ' :
BT40-SPH08-85 0-8 96 87 38 2.4
BT40-SPH13-105 0-13 115 102 50 2.3
BT40-SPH16-110 3-16 122 119 57 3.0
BT50-SPH13-115 0-13 127 115 50 5.2
BT50-SPH16-120 3-16 133 120 57 6.0
MmO - TSRS S AT RS -
P15 P16




MorserTaperArbor:

NT.NO. —l—’_m

LS

N bs. Q.

BT40-MTA1-45 45 25 BT50-MTA1-45 45 25

BT40-MTAZ-50 50 32 BT50-MTA2-50 50 32 S
BT40-MTA3-70 70 40 BT50-MTA3-70 70 40 NT30-0Z25-70 0725 NT40-0Z25-80
BT40-MTA4-95 95 50 BT50-MTA4-75 75 50 NT50-0Z25-100

> ELDHIBR OZ Type Collet

Attaching, and detaching collets

30°
P

ol
a

D1

S 37 O i

BT30-MTB1-45 BT50-MTBI1-45 45 25 M6

BT30-MTB2-60 MI10 BT50-MTB2-45 45 K] MI10

BT40-MTB1-45 Mé BT50-MTB3-60 40 40 M12
o BT40-MTB2-45 M10 BT50-MTB4-75 75 50 M16 0Z25 355 52 inch: 1/8, 1/6, 1/4, 5/16, 3/8,7/16,1/2, 9/16, 5/8, o
@) BT40-MTB3-75 12 BT50-MTB5-120 120 70 M6 11/16, 3/4,13/16, 7/8, 15/16, 1" O
0 BT40-MTB4-75 M4 - - o
o mm: 4,7,8,9,10,11,12,13,14,15,16,17,18,19,20,21,22, o
< 23,24, 25,26,27,28,29,30,31,32 <
3 ( BT OZ -‘—ﬂﬂﬁ oz COLLET CHUCK ) kel 4 &0 inch: 1/4, 5/16, 3/8, 7/16,1/2,9/16, 5/8, 11/16, 3/4, S

UL\ 13/16,7/8, 15/16, 1, 1-1/8, 1-1/4'
L i
Z Z
(TT] [T
@) =7 O
—1 8 a
et » OZ#KR=F Wrench » SJHEIOZIZEIE OZ-Type Nut
BT.NO.—/‘ - | L1
L

BT40-0225-80 3.25 80 40 30 0725

BT40-0725-100 3.25 100 40 30 0725

BT40-0732-80 6-32 80 75 33 0732

BT40-0232-150 6-32 150 72 33 0732

BT50-0725-100 3.25 100 40 30 0725 _—

BT50-0Z25-130 3-25 130 40 30 0Z25 . | s

8750-0732-105 4-32 105 72 33 0732 NCH-0Z25 60 0725 0725 30 60 M48 x 2 07225

BT50-0OZ32-150 6-32 150 72 33 0OZ32 NCH-0Z32 76 0z32 0Z32 33 72 M60 x 2.5 0732




NT=EMASZE#57042= Face:Mill- Arbor

NT.NO ‘ ]

 , %
izl

1/2"-12W, M

12 x 1.75P
NT30 ER40 | 70 63 | USA1/2'-UNCI3
NL‘:g g‘fg 50 “g 5/8"-11W or
:m ERio ig 23 M16 x 2.0P @ Inch FMA Model
NT30 | 254 | 20 9.57 5 | 65 | 20
NT30 31.75 23 12.75 ¥ 73 | 20 =
C R8 BUJ)42 ER Collet Arbor ) NT30 | 381 | 22 | 1590 | 9 | 82 | 20 4
NT40 25.4 20 9.57 5 65 | 20 9
NT40 31.75 22 12.75 7 73 20 1‘5
NT40 38.1 23 15.90 9 82 20 %
NT50 25.4 20 9.57 5 65 20 ?ﬂ
NT50 31.75 ) 12.75 7 73 | 20
» NT50 38.1 23 15.90 9 82 20 »
NT50 50.8 24 1905 | 10 | 95 | 20
@) O
Pl o0
v oZ
< -
_&.l d
= (" NT-FMB SE@#%J04E Face Mill Arbor ) =
Z Z
5 © Metric FMB Model 3
(" MT-ER $£GR¥5E MT-ER Collet Arbor ) . : :
el Shaft Size Mounting Size
L ‘H W Kl
= 18 9.57 5 40 | 20
/ 4 20 | 1275 7 53 | 20
|/ - 23 15.90 7 63 20
- I Y 18 957 5 40 20
20 | 12.75 7 53 | 20
23 | 1590 7 63 | 20
] L | D | i G L i 26 19.05 8 85 20
MT2 ER16 | 40 28 —— MT3 ER16 | 40 28 | 3/8"16W er 18 957 5 40 20
MT2 ER20 | 43 34 i MT3 ER32 70 50 | 1/2-12wW 20 12.75 7 £ 20
MT2 | ER25 | 47 | 42 | M10x1.5P MT3 | ER40| 80 | 63 |MIOx1.5P : ; :
MT4 | ER32| 60 | 50 |5/8-11Wor  MT3 | ER20| 43 | 34 |M12x1.75P 23 | 1590 7 63 | 20
MT4 ER40 | 82 63 | M16 x 2.0P MT3 ER25 | 47 | 42 |USA1/2%UNCI3 26 19.05 8 85 20




S | NISLABERE ENDMillAbor

16 45 50 60 2 18 | MI10 C20-ER16-100 100 30 28

20 L o0 | 6] G |z 20 | M12 C20-ER16-150 150 30 28

| 40 | 45 | 55 | 20 | Te | mio s T A

C20-ER20-100 100 36 34
L e T D C20-ER25-50 50 46 42
C20-ER25-100 100 46 42

N 25 | 50 | 65 | 75 | 25 | 22 | mi2
= o O T O S R C20-ER25-150 150 46 42 &
o 42 80 | 80 | 105 | 32 24 | MI16 C25-ER16-100 100 30 28 :
i 12 40 | 45 | 55 20 6 | MI10 C25-ER16-150 150 30 28 g
12 16 | 45 | 50 | 60 | 22 18 | MI10 C25-ER20-150 150 36 34 o
kS 20 | 50 | 60 | 65 | 25 | 20 | mI2 C25-ER25-100 100 46 42 B
3l 25 | 50 | 65 | 75 | 25 | 22 | mi12 C25-ER25-150 150 46 42 5

32 | 60 | 70 | 90 | 30 | 22 | mi6
. NT50 42 | 80 | 80 | 105 | 32 | 24 | mi6
@)
&2
< (NT-JT#BRING 042 Jacobs Taper Drill Chuck Holder ) ; sy
= i TTTTTT=
o’ “y %L L \
w H
Z = -
W NTNO  — - £l -l LL
O J.T.NO.

| K ) & —— | |
& b O, | Ll _:_. : . 1 _ U
] C16-ER11-50(M) 50 12 16 16

COLLET HOLDERS WITH STRAIGHT SHANK

= C16-ER11-100(M) 100 12 16 16

C20-ER16-50(M) 50 18 20 22

. C20-ER16-100(M) 100 18 20 22
V10 C - C20-ER16-150(M) 150 18 20 22
NT30-JT1 9.754 18 C20-ER20-50(M) 50 19 20 28
NT30-1T2 T2 13.94 20 C20-ER20-100(M) 100 19 20 28
NT30-1T6 16 17.17 26 C20-ER20-150(M) 150 19 20 28
NT40-IT2 2 13.94 20 C25-ER20-50(M) 50 19 25 28
NT40-1T6 76 1717 26 C25-ER20-100(M) 100 19 25 28
NT50-JT6 176 N2l 26 C25-ER20-150(M) 150 19 25 28




9242 Pull Studs — | JCE V=28 Optical Edge Finder:

Precision*Durable

SOE-20s

€ Not necessary fo rotate while measuring.

© Quickly locate work edges.

& Save time to find positions, for milling machine, jig borers,
and other machine tools,

€ Accuracy 0.005mm.

K B
OTRTEHAE -
O FEIEE0.005m/m °
O MI2MUMS#, 1.5VERIES M - (201, 32L)
(32 / 20LB, 20SHI 1 IUMS#, 1 2VERIESZ T D = )

Q BT30 )i EAHIIRIRE

g o . ¥ --r. I' Lo i @ Is A High Sensible Position Measuring
BT30-45° ]6 5 7 'I } 12 5 43 23 ] 8 M] 2 X ] 7 5 < Uses dl‘\lI batteries to ilgh* the red |amp
- - - . - & The scope of application includes edge suface,inside and
BT30-60° 16.5 7 11 12.5 43 248 18 M12x17.5 outside diameters and high efficiency.
BT30-90° 16.5 i 11 12.5 43 23 18 M12x17.5 QEheLe is c}: safety springh puier“\-\lfichkpufs 1hefbu[| Enﬁ:iseiy 516
5 : ack to the positing when ball breoks away from ball seat. ==
BT30-45° chilyH7K 16.5 7 11 1255 43 23 18 M12x17.5 > © Battery iype: &8
BT30-60° tPINHIK 16.5 7 11 12.5 43 23 18 M12x17.5 ' Um5#, 1.5V x 2pcs (SOE-20L, 321) T
O —— Um5#, 23A x 12V x 1pes (SOE-20S, 32 / 20LB) f"?
A Nc‘:ﬁcs to use of optical edg:findsn that :.r%
is ot suitably vsed for rotary. %
mm
O BT40 THSERIIIRIE >
‘8 o a1 _ TT-3300 SOE-205 20 o 120 10 0 198x75x44 o
S - TT-3301 SOE-20L 20 @ 158 102 198x75x44 0
— BT40-45° 23 10 15 17 60 35 28 M16x2.0 TT-3302 SOE-20LB 20e 158 10e 198x75x44 74
wn BT40-60° 23 10 15 17 60 35 28 M16 x 2.0 TT-3303 SOE-32L 32 158 10w 198x75x54 T
E BT40-45° il 7K 23 10 15 it 60 35 28 M16x2.0 8
BT40-60° thil)HH7K 23 10 15 17 60 35 28 M16x2.0 L
BT40-90° Il 23 10 15 17 60 35 28 | M16x2.0 O RINNZ288 Mechancal Edge Finder Tt-3352 _
MAZAK-BT40 P 18.8 12.45 17 44.1 19.1 14 M16x2.0 6
@21
sy =
g 15 |s.5 O
&5
Q BT50 TR BAANSIRE
. v | Qs | SME-1020 SME-420 SME-610 SME-4205T  SME-10205T
BT50-45° 38 17 23 25 85 45 35 M24 x 3.0 "
BT50-60° 38 17 23 25 85 45 35 M24 x 3.0 © Steei:Cr-Mo, ALLOY STEEL.
BT50-90° 38 17 23 25 85 45 35 | M24x3.0 $IREE0 L mm mm
BT50-45° chily 7K 38 17 23 25 85 45 25 M24 x 3.0 - . ; g > e 5 W ' -1
BIsCe- i | 2o s 25 25 = p 2o | et SME-610 0.08 94x24x24 SME-1020 0.12 94x24x24
BT50-90° tIbiK | 38 17 23 25 85 45 35 | M24x30 SME-420 0.14 94x24x24 SME-1020ST | 0.12 94x24x24
MAZAK-BT50 37 28.95 20.83 25 652 252 17.58 M24 x 3.0 SME-420ST 0.14 94x24x24
P23

—r’_ -



Precision*Durable

OFFHAE -

1 BAE T HEMARE  RESEERTTRILE -

) EREER  FNEEBEEREIEE -

3EE )RR EEMEERRE  BIEEN
EEES - LEESERE -

4 BIEFRE AU B EERNE -

HEH : LRA4 S A76/ GI3x2

off Fb
¢ BESOmmBERETE -
© B ECEERRE - T TRIEERA -
© {IB%RT  NEE TSR » IS8R -
< ¥8£0.005mm * TTR-40/50-A TTR-40/50-B -
@ Features: ; e " . = . B
© Height 50mm. TTR-40-A BT40 645 x 380 x 1720 56
& Base built-in magnets for easy set-up. TTR-50-A BT50 645 x 380 x 1720 40
© The red lamp will be lighted up when fouched. TTR-40-B BT40 645 x 380 x 1720 112 2 A o0%030x B40
& Height can be micro adjusted and audited by TTR-50-B BT50 645 % 380 x 1720 80 T1-50 20
goge block.

& Can be used vertically or horizontally.

Vs

A > i . o Weight : 0.3 kgs. ey e TSP
ZOP100 | 100x0.005 | 0.9KGS 101x101x150 o Battery type: LR44 / A76 / G13 x 2 pcs. O =RoiRAIEFE 3D-TASTER
ZOP-50 50 = 0,005 0.6 KGS 101x101x90 o Accuracy: within 0.005mm
0HF H:
© DI - SETITRENTUER - #iF - S - WENITHSE - —RRE  KAER -
O ZBhERESE Z Axial Preset Gauge(Indicator Type) ¢ FE : AL 2ER - RE - RE - B8 - 82 5k - & XBUS -

X Y IZHIRE 2R - REKEXEESA THEE - ERIEMEREHIET
08 - BIFRREEPIMRET SRR - TRINEEREE - HRARBRIERR -

¢ BETEOEFIEZEE - B8R - BEFERNE  EREEN] -

< FH-3D-TASTER + T fi—RBIE iR #t /R (SLEC20)NE LT ISTE -

50 38 jm o

3 *BREBIUHE - KRS (S Eo8mm) mm 3
2 3
é ZIP-50 ZIP-50A | 2
220 0.01 257 al4 120 o4 g
—
Lt ~
A Y.
o O Z#hERE2SMIEREY Axial Preset Gauge O
Cx g O SHTIEE/ EHE RS EEERA <
:(' o B @ FEATURES Tool Holder Locking Device / Spindle Taper Wipers / Clamping Kit 0)
; CESEHE/ERERENRM - < For sefting toal length on machining centers / lathe centers. =z
< CHESE : 50.00 = 0.005mm - < Sefting high: 50.00 = 0.005mm. =
CEREX  BIFES - < Large meosuring surface and easy fo operate. O
CEENE/)  TRBNBEDHIHEETH - © Low spring force fo avoid breakage of small end mill and drill.
© AREEMFETRENTEERE - € Easy to becalibrated by o ground parallel or gauge black, 9
©ZIP-50A : TTERSLHEEREN - BEELS - © Better parallelism, sensitivity, and precision for use.

mm SR

= TW50 TW40  TW30 g : =

) o, yoe G.W wWxH L L R S I | = =
raeriy , ' PK-103 3/8' E 8
T13320-1 ZIP-50 1.2 kgs 101 x 101 x 90 PK-104A T2 ik 12
e e B " NG T T - Eﬁl g;i ;;2 A
T73320-3 ZIP-50A | 50+ | 1.8kgs 101 x 101 x 90 8T-40 40# 32 TW-40 40# 0.4 PK-1058 58 | 1-1/4" 15
TT13320-4 ZIP-100 505 3 kgs BT-50 50# 11.0 TW-50 50# 0.6 PK-206 3/4" 1-1/2" 32

P25 P26




7]
2
]
ES
H

I

{E
12
()]
|
©
(]
=
=
(4]
=

1t 73 75 BR 22 =) SHIH CHENG CO., LTD.

BhrhtBE E S 701859257

No.92, Lane 701, Shenzhou Rd.,
Shengang Dist., Taichung City 429, Taiwan.

TEL:886-4-25633391-2
FAX:886-4-25633212

SKYPE: toptool.arbor
E-mail: shin.cheng @livemail.tw
uv620419@hotmail.com

KBED T
REMRZERDRENE3E85E
TEL: 0769-85071566 - 81622836 - 85370980
FAX: 0769-85071568
E-mail mihong2896@ 126.com

Professinal




	COVER
	形象頁
	P0A-0B
	P01-2
	P03-4
	P05-6
	P07-8
	P09-10
	P011-12
	P13-14
	P15-16
	P17-18
	P19-20
	P21-22
	P23-24
	P25-26
	back

